[image: image1.png]14. “The pressure of a given mass of gas varies directly with
the absolute, Kelvin, temperature with the volume being
kept constant.” This statement best illustrates

1) Avogadro’s Principle
2) Boyle’s Law
3) Combined Gas Law

4)  Gay-Lussac’s Law
5) Charles’ Law

15. A CH, (molar mass 16 grams) effuses at 0.080 mole per
minute at 289 K. At that temperature, a gas that effuses at
approximately double that rate has what molar mass?

1) 4 grams 4)

5) 64 grams

32 grams
2) 8 grams
3) 16 grams

16. CiHy(g) +5 O,(g) -3 CO,(g) +4 H,0(g)

A 0.03 mol sample of CHy is reacted with just enough O,

to use up both reactants in a 1 L flask at 300 K. The total

pressure in the flask after the reaction is complete is closest

to which of the following?
(UseR =0.082 L atm mol™ K™)

1) 5.0 4) 025
2) 05 5) 0.05
3) 01

Base your answers to questions 17 through 20 on the following
molecules.

(A) H,
(®)0,
(C) Br,
O)N,
(B)F,

17. Which molecule as a gas effuses the fastest?
1) A 4) D
2) B 5) E
3) C

20.

21.

22.

. Which molecule has a bond order of 32

H A 4 D
2) B 5) E
3) C

Which molecule has one sigma bond and one pi bond?

H A 4 D
2 B 5 B
3) ¢

Which molecule has the shortest bond length?

) A 4 D
2) B 5 E
3 ¢

A gas mixture contains 0.400 mol neon, 0.250 mol argon
and 0.350 mol helium. If the partial pressure of argon is
1.00 atm, what is the total pressure of the mixture?

1) 0.250 atm 4) 2.50 atm
2) 0.400 atm 5) 4.00 atm
3) 1.00 atm

C;H,0H (s) — H,0(g) + CH (9)

A student places 0.05 mole of C;H,0H (s) in a 1 L vacuum
flask, which is sealed and heated. The propanol
decomposes completely according to the balanced equation
above. If the flask's temperature is 500. K, the total
pressure in the flask is closest to which of the following?
(Use R = 0.08 Leatm/molK)

1) 8.0 atm 4) 2.0 atm
2) 50.atm 5) 4.0 atm
3) 25.atm





